N = 0l & At & Ml A
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SA: IHEH
M oMM AUNA (YD)
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Hngse 748,539 746,004 2,535
HEM2ILXNA(OEH) 239,892 236,254 3,638
PN YU S 239,892 236,254 3,638

dE2E & XA 211,339 207,710 3,629
201 Yot Y| 80,049 75,200 4,849
01 At 22l 31,870 27,020 4,850

0 get=2Hl 31,870
O % 2% =S+l 10,510,000& * 14 10,510
O gas X 2=s2(g¢, =, 82X)
15,000& * 113 » 12& 1,980
O g9 M8 %o 50,000& = 2& * 33l 300
O @At EHIS 60,000& = 3& = 23] 360
O HIANSPEBE(2AEX, 22, 23 &)
50,000& = 5& = 123/ 3,000
O &M 7 30,000& * 6& 43 720
O EUY 7Y (ZIH, BAD|)
280,000& » 6CH = 43 6,720
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O RUZBAAE =2 140,000& » 128 1,680
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03322 2 WA 48,179
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O dll=z 41,472
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N=Z2S 7,100& = 360 » 12& 30,672
O &ot=&= 100,000& » 12& 1,200
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02 N 33,120 33,120 0
0O oI 230,000& = 128 » 123 33,120
301 LEHZ 89,530 89,530 0
05 S& -0 -2 77,530 77,530 0
OoEes2Eas 74,880
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